Instruction Manual sunJe

Electrostatics

BT IRt FRA L FARIRSET .

0 RT7REFETTIFIR

A\ WARNING

* BDEEIRAER. SENERIE. ABBEEEXK. WEFFRE.
WMRFEMEE, FEEER.

* ADRERBHEIK. SRISRERTEEMEERE KL,

*IRESEERERR. BUEER. SRITTAEEIEMBETKK.

* BRERTEERER. ERSFERERL

* EmRERAEMEETE. SRR sREERNEETIE.

* BEERBRIRE TER UBRIBRE) | FERTEMREER.

* FERREPIR—RITHRTEEN. HAFERNERSEHE. BE. KBS,

© cauTion

*EEERIR T, ARSI E R T, BRISREEMR R EE.

* MBS RIAFBRIRAT. BEIMIVOER.

¥ REBRAARE RS, IR SRR SEE R E EEM .

* BERNERGSSRGERIRAINEGR. RARSELRE. BAAR. BFESE
HIRIRE.

* BB E LN,

* FEFEFEIEREEELRS. (0.05ppmLLT)
WEmELL HERMERARAREE AR ANER.

* AIRREERIURIRESE RS,

0 %52 PackageI®

> EmEbME
EEMAY PackageiEaN MR,

lon Bar
SSBN Series
Tea
%
* Ground Cable * 90°Angle Mount Bracket
SGC-MT-2-003 SBR-SB-1-001

@4-@4/4m /lea

» 1EINAYER Option
EAMNERBRZINE TR eSSt IhaEa LSS THIER.

* Clamp * Straight Mount Bracket
SCL-SB-1-001 SBR-SB-2-001

02
ST

----@ EIERA Mount Bolt
RABEA Mount Bolt,
TJ#§ Mount BracketZ4EREEN S,

:-@ Ground Bolt

AR EPIRAD.

gﬁ%ﬁﬁfﬁﬁ .--@ H/V Cable (4m)
round Bo P HERE H/V Cabl
S, D ey cable

B EE H/V Cable Connector @------....-i

A lonMEIREFE., H Controllerfy lon Bar
(EBEHIRIRRA 22mm) {84 PortfihF.

& HAEE (HLEE)
B BRI A T A M,

0 TERUUREE

» lon BarsgB%i%
REMTEZ RIS D T R TR EH SR IR R B R ER .
B EREESE THINEIE,

BEARRESE

a. RF Mount Bolt;& &
fEFIBENA=0AI M4 Mount BoltElEM EEHIEE.
RRBIEES. A% M4 Mount BoltfURE,
Emig. RESUNEEHE WEREE.

M4 x 14L—\ — EEEE
i) [vs]
Fany

D

r\ =

b. F3 90" Angle Type Mount Bracketz&& (1Zi)
SelEER LERE BrackethiE. FABE/ST M4 Mount Bolt3&EE Mount Bracket,
RERERBEEREMNS. A MARGELERS 90° Angle Type Mount Bracketf9#,,
EEER. EmiEE. RERUNEEE. HE2REE.

<f-1>

— EEfE

<f-2>

EEE

M4 Bolt:

03

c. A Straight Type Mount Bracket:& & (58E)
SR EERE Bracket{U &, A&7 M4 Mount Bolt?REXE Mount Bracket,
MERSERIBEEREME. A MARLELRS Straight Type Mount BracketfI#LE
EER. EniEE RHSENEREE. EREE.

B
M4 Bolt /
_¥¢

<fl-1>

<fl-2>

SSBN SeriesfZHEigEi2(tt Mount Bolt / Mount Bracket&&
SSBN Seriesfs 14{EIZH#ERYSE, MAEREIEFT Mount Bolt / Mount Bracketi2tE BT,

Model MN(I)ZL:]T:::IT(; Model th?;::tal::cliét Model Mh/(laztrlm:t;:cl:({et
SSBN-120 | 2ea SSBN-1100 | 3ea SSBN-2100 | dea
SSBN-300 | 2ea | SSBN-1300|  3ea | SSBN-2300 |  dea
SSBN-500 2ea SSBN-1500 3ea SSBN-2500 4ea
SSBN-700 | 2ea SSBN-1700 | 3ea SSBN-2700 | dea
SSBN-900 | 2ea SSBN-1900 | 3ea

% Mount Bracket2R#g{t 90° Angle Type. (Straight Mount Bracket : Option)

EARERH

|

Min 10mm Min 20mm ~ Max. 250mm Min 10mm

l

FEGFE— RS SRR R
RESTER. WEEGLEEAEETERBEIE,
HSETARNRE.

<{ Front >
= =

Min 150mm Min 150mm

< Side >

Min 200mm Min 200mm

04

MHELA BB TR SR
BT EISRERSRETIEZRTY. SEFETEZRIEER 40mmilE,

lon Bar L F:R &R
B L TR EMRRETEZETY. BT 40mmil L,

1
N =5 E— —

Min 40mm

I ——
=T

» Power Controller&i&fix

Connector

H/V Cable / Basic 4m

Power Controller

Ground Cable / 4m

Ground Terminal

AJLAESE Power Controller
SSBN SeriesE]LAFIZIT Power Controllera] LAEE,

* Power Controller

* Power Controller
SBP-2S SBP-07A2

* H/V Cable Length
SBP-2S : SSBN-120~900 (Max. 5m) / SSBN-1100~1900 (Max. 4m) /
SSBN-2100~2700 (Max. 3m)
SBP-07A2 : SSBN-120~2700 (Max. 5m)
X BEEEROLNNHERESERERSRERINERS. AERYEESEIIREME.

@ CAUTION | * BRTISER Controller2/p REimiE, EREREME,




» &% H/V Cable

05

* BESGHEGIEIVImE, SHREE,
* H/V Cable2FATRUFRISTHAER. EREEDERME.
* H/V CableHHGSIQ AESEESBE.,

@ caution ARG H/V CableEIRIBHRIHATMBRIR—IBHER.
BB —RHHISTERRISRY 200mmEYIER I THHSR,
0, HEXERREHEEEZRMME Controller{EMIFE2IR
H/V Cable—&EHHE, BRIETRERERSHIEE.

HE4F Clamp (Option)

- SUERR R BL8% : KODUCT / KC-10B
- {3 ClamphE iR < RIRRF 300mmZeriia,
- EE ClampBFaE{#ER M4Ze,

KC-10HE4RF Clamp (Option)

O “EEFEE

EENEEREHEREROMEES. BOE TIREEEERE,

R TS EHEESR.

MBS T AR, ORISR, FER3IERRE,

*FERRASEE. EHEBER. SRENMESR.
WMREBEARRR. BEBEHFESHRIR.

* WEHIFERR. AL MEERFEEEEt. TSN
5.

© caution

> KEEHER
SRR NSRRI — R SRR MERHE SRR,

- FAERIBR : 818 1R (EF 168/)\)
- FEBIER : 3MER 1R (EF 2,160/)M)

> MEHERIER

a. iBIRZAIF%5WEEE ControllerEiR.

b. (ERERSBETRERREREY. (FRIBELAER)
{B7E CleanIRiE TA{E AR,

c. BEK, HEIERMYERISRELAL 3ER (CEFREE - 2,160/ —REEHIER
FERIR)(Wiper) b/ NEATREFRRZERATIE IPAIRIRES,

d. i&E#5e1ERIR Controllerfy iR,

e. BRI BT iR,

> BAlERENEARRE
B8 Arcking Test EIFERREEMENFAGIRRE, [TestiBHA : BEHS]

a. Controllerf9EiRE OnikRE,
b. EFERENESEE T,
¢ BT Bz,
d. MRS IRE FRR IR B BB
(#3 3mmZEA)
WLATRERIE, SJERERIERRE.

06

fEkE Arcing FIE JRE 1Bt
e Bar. Cablef@i, | ERRAHE Bars)
8 Arcking. B | e, mim. | Controller,
Shockless T #2~3mmPIaE. " R
ockless lype gﬁgmag Aering° N
#9 5~8mmAYERARE 2
QAL Arcing, | % | BarEMGAERRNL. | Et Bar.
N B
0 BRRERE
> BREMIERREZRAIER
HRRE HERRIEE i IaES
BRGHEERIREIR? (Controller) EF BIRAIEIEZ 2 BRIED,
ERADE | REEEHRELNMOBER o Soroo
RERTEEHATIR LAOEIREIRE | SIRIERRE.
EEPHST | RRET R RS R,
. 1R ZRAEE 1EE
SR LR,
R EETRIRER ERSEE RIS Cable

EHEAETE CableREBEMFEERIR?

EIRERAMRERSE,

MR ERTH?

E2R EERE"
WIEBARE RN,

HNEIE

» lon Bar (SSBN Series)

< Front >

0
Fl

07

< Bottom )
A$25 41.0
49.25 B 68.75
220
| 1 | =
=t t | [T
No. Model No. Controller \
SBP-25 |sBP-07A2 . ottt Ll
1 | Standard Length 4m
2 | SSBN-120~900 | Max. 5m
3 |SSBN-1100~1900 4m Max. 5m
4 |SSBN-2100~2700| 3m
No.| Model No. Tip Q'ty A B Mount Bolt Q'ty
1 SSBN-120 1 118 - 2
2 SSBN-300 9 294 176 2
3 SSBN-500 18 492 374 2
4 SSBN-700 27 690 572 2
5 SSBN-900 37 910 792 2
6 SSBN-1100 46 1108 990 3
7 SSBN-1300 55 1306 1188 3
8 SSBN-1500 64 1504 1386 3
9 SSBN-1700 73 1702 1584 3
10 SSBN-1900 82 1900 1782 B
11 SSBN-2100 91 2098 1980 4
12 SSBN-2300 100 2296 2178 4
13 SSBN-2500 109 2494 2376 4
14 SSBN-2700 118 2692 2574 4

» Mount Bracket

a. 90°Angle Type Mount Bracket (Standard)

79.5

100.0

n Q
< y
= |
o %
[ T [
41.5
51.5

(8 B

08

Parameter

Description / Value

Compliant Standards

Technical Recommendations of the Research
Institute of Industrial Safety

Rated Voltage

AC7kV 7%

Structure

Capacitive-Coupled (Shockless Type)

0Ozone(03) Concentration

<0.05ppm

Operation Circumstance

0C ~ +50C(32°F ~ 122°F), 35% ~ 85% RH

Body PBT (Polybutylene Terephthalate) _Level VO
Cover Aluminum
Material Electrode SUS 304

Cable Insulator

PVC (Polyvinyl Chloride)

Flexible Tube

PA (Polyamide) _Level VO

Operating Distance

20 ~ 250mm (Non Air Pressure)

Mounting Method

Ceiling & Wall Mount

Weight About 0.6kg/m (Without H/V Cable)
Tip Cleaning Cycle 1 week (Electrode Cleaning)
Warranty 1 year

HRTERYRAER. TRAEASN. MREERNINGIIRE.

S UnJG Electrostatics

www.sunstat.com

Head Office & Factory (Busan)
8 Cheonggwang-gil, llgwang-Eup,
Gijang-Gun, Busan, Korea

T) +82-51-720-7500

] Sales Headquarter (Osan)

795 Naesammi-dong, Osan-si, Gyeonggi-do,

Korea
T) +82-31-203-9034

Customer Center +82-70-7714-9033

Sales Contact +82-31-203-9034

F) +82-51-720-7501

F) +82-31-202-9034

| Sunije Japan Co., Ltd.

Dai 7 Matsuya Bldg 10F 1005 2-23, Honmachibashi,

Chuo-ku, Osaka, Japan

T) +81-6-6949-5001  F) +81-6-6949-5011

] Sunje (SHANGHAI) Trading Co. L td.

Block C, 4F, No.482, Hongxu Road, Minhang District,

Shanghai, China
T) +86-21-5433-9761 F) +86-21-5433-9762

| Sunije Technology Co., Ltd.
2F, No.6, Lane.102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472
T) +886-3-568-7891  F) +886-3-568-7950

Copyright 2023. SUNJE Hi-Tek Co., Ltd. All Rights Reserved. ‘D

Hidden Champion 100

Materials-Components-Equipment



